Virginia Cattle Company — September 25, 2018 @ 10:30 AM

Call Sale Barn for Bidder Number: 540-672-1760

Conference Call Number to Bid: 1-800-309-2350 Pass Code: 4505513#

Please go to: www.vacattlemen.org for updates or additions For additional information call Gary Vance 540-622-4889

LOT #1 74 Steers Home Raised

OWNER: Peter O'Brien

Breed: 73 Black, 1 Red

Grade: 70 L&M2, 4 L&M3

**Weight:** Avg: 650 Range: 575 - 725 Total: 48,100

Weaned: Yes

Feed: Pasture, 10 lbs 14% commodity feed since August 2018

Implanted: No

Flesh: Mostly 4 with a few 3s

Health Program: 7-way clostridial, Enforce 3, Pyramid 5+ Presponse, dewormed w/pour-on

**Location:** Scottsville, VA

**Livestock Market:** Virginia Cattle Company handling transaction

Weighing Condition: FOB farm, 5 mile haul to certified scales, weighed on truck w/2% shrink

**Pickup Date:** Within 10 days of sale or as settled with seller

Clean Score: Clean with a few 1s
Comments: One owner cattle

Contact: Gary Vance at 540-622-4889

Evaluated By: Willie Morris (VDACS) at 540-480-4128

LOT #2 64 Steers

**OWNER:** Senterfitt Farms

**Breed:** 61 Black & Black w/WF, 3 CharX

**Grade:** 17 L-1, 44 M-1, 3 L&M2

**Weight:** Avg: 765 Range: 715 - 815 Total: 48,960

Weaned: Yes

**Feed:** Commodity pellet, free choie hay, pasture

Implanted: Not since purchased 60+ days ago

**Flesh:** 5 & few 6

Health Program: 7-way clostridial, Enforce, Pyramid 5+ Presponse, Pinkeye, dewormer (drench & pour on)

**Location:** Madison County, VA

**Livestock Market:** Virginia Cattle Company handling transaction

Weighing Condition: FOB farm with 2% shrink

**Pickup Date:** Within 10 days of sale or as settled with seller

Clean Score: Clean

**Comments:** 

**Contact:** Gary Vance at 540-662-4889 or Clay Jackson at 703-772-5132

**Evaluated By:** 



Virginia Cattle Company — September 25, 2018 @ 10:30 AM

Call Sale Barn for Bidder Number: 540-672-1760

Conference Call Number to Bid: 1-800-309-2350 Pass Code: 4505513#

Please go to: www.vacattlemen.org for updates or additions For additional information call Gary Vance 540-622-4889

LOT #3 57 Steers

OWNER: Joe Johnson

Breed: 25 Black & Black w/WF, 20 Red & Red Neck, 7 CharX

**Grade:** 15 L-1, 36 M-1, 6 L&M2

**Weight:** Avg: 850 Range: 800 - 900 Total: 48,450

Weaned: Yes

**Feed:** 9 lbs commodity pellet, pasture

Implanted: Yes, Synovex S

**Flesh:** 5 & 6

**Health Program:** 7-way clostridial, 5-way respiratory (Pyramid 5 + Presponse - boostered), dewormed 2x

**Location:** Madison County, VA

Livestock Market:Virginia Cattle Company handling transactionWeighing Condition:FOB farm, weighed on farm scales, giving 2% shrinkPickup Date:Within 10 days of sale or as settled with seller

Clean Score: Clean

**Comments:** 

**Contact:** Joe Johnson at 540-229-8805 or Gary Vance at 540-229-4889

Video Online:

LOT #4 75 Heifers Home Raised

OWNER: Peter O'Brien Breed: All Black

**Grade:** 20 L-1, 38 M-1, 17 L&M2

**Weight:** Avg: 600 Range: 525 - 700 Total: 45,000

Weaned: Yes

Feed: Pasture, 10 lbs 14% commodity feed since August 2018

Implanted: No Flesh: 5 and 4

**Health Program:** 7-way clostridial, Enforce 3, Pyramid 5+ Presponse, dewormed w/pour-on

**Location:** Scottsville, VA

**Livestock Market:** Virginia Cattle Company handling transaction

Weighing Condition: FOB farm, 5 mile haul to certified scales, weighed on truck w/2% shrink

**Pickup Date:** Within 10 days of sale or as settled with seller

Clean Score: Clean with a few 1s
Comments: One owner cattle

**Contact:** Gary Vance at 540-622-4889

Willie Morris (VDACS) at 540-480-4128

Virginia Cattle Company—September 25, 2018 @ 10:30 AM

Call Sale Barn for Bidder Number: 540-672-1760

Conference Call Number to Bid: 1-800-309-2350 Pass Code: 4505513#





## Please go to: www.vacattlemen.org for updates or additions

LOT #4 64 Heifers

OWNER: JR & JG Goodwin LLC

**Breed:** 60 Black & Black w/WF, 4 CharX

**Grade:** 15 L-1, 47 M-1, 2 L&M2%

**Weight:** Avg: 765 Range: 715 - 815 Total: 48,960

Weaned: Yes

Feed: 29 lbs corn silage, 4.5 lbs wheat midds, 3 lbs ground corn, 2.7 lbs DDG, .5 lbs canola meal, pasture

**Implanted:** Yes, Synovex H

Flesh: 6

Health Program: 7-way clostridial (Bar Vac 7), 5-way respiratory (Pyramid 5 +Presponse - boostered), dewormed 2x

**Location:** Orange County, VA

**Livestock Market:** Virginia Cattle Company handling transaction

Weighing Condition: FOB farm, 25 mile haul to VCC in Radiant, offloaded & weighed, no shrink

Pickup Date: Week of October 1st

Clean Score: Clean

**Comments:** 

Contact: John Goodwin at 540-219-7466 or Gary Vance at 540-229-4889

09/24/2018 21:34

5406722635

/IRGINIA CATTLE COMPANY - RADIANT, VA

TUCKER LST

PAGE 03

Steers : 217 Heifers : 2/

Bulls B-5ALE

TOTAL : 810

.OOM NUMBER 4505513#

-800-309-2350

52. 504X

2AS

19/**25**/2018 **(***D***:30 Am** TTL AVG TOTAL GRADE SEX/BREED SLEERS PEN GRADE WGHT WEIGHT PRICE BUYER HD NO. )RD 385 385 1. 310 2AS 350 350 2AS 2. 219LC3 355 355 1 3. 301A3 SAS 4275 9 475 4. 401 MAS 4 470 1880 5. 402 2AS 432 2160 5 6. 311BE4 3AS, 2AS 495 495 2AS 7. 219ET4 450 450 8. 221A4 3AS 480 480 1 9. 221C4 3CS 855 2 428 10. 302A4 SAS 490 1 490 11. 302T26 12. 305X 13. 500 SAS 2 430 860 4AS 9420 17 554 MAS 4050 8 506 GrAS **4**14. 105WV Grmxs 58, (C 51, 32 Gras **Roll 32**, 43 554 3325 6 K15. 802WV 3890 7 556 **√**16. 114WV 561 6730 12 17. 502 2AS 500 500 18. 321BR5 19. 503C 1 MAS 560 560 MCS 2 565 <u>i</u>130 2CS 20. 600Y 525 ī 525 21. 219WT5 2AS 530 3180 6 22. 222A5 3AS 585 585 1 23. 303A5 SĀS 560 560 1 24. 306AS5 4AS 7220 656 MAS, LAS 11 25. 901 Gras Bell 6705 10 671 <del>(</del>26. 109WV 7390 11 672 **Y**27. 110WVV Gras Bur. m\'s GrCS Chan 52AS,2-MAS 7 694 4860 m+L **k**28. 103WV **2**9. 217WV 7 644 4505 3L, 2<sup>2</sup> 661 5 3305 30. 117WV GrAS BLK MMXS 3R,2C 3525 **4**31. 104WV 5 705 ms 675  $\overline{1}$ 675 32, 602 2AS 670 670 1 33. 220R6 3RS 3 640 1920 34. 312BE MAS 610 610 35. 219CBE MCS 1280 640 36. 304A6 SAS 615 615 1 3AS 37. 4ALC6 695 695 38. 321BS 2AS 645 645 4HOS 39. 309 6 750 4500 40. 118WV Gras Black 3L, 3m 5 776 3880 41. 108WV 2m. 32 GrAS BUR 2 745 1490 MAS 42. 701 5 757 3785 43. 702 2AS 755 755 44. 702HE7 2HES 740 740 MAS 45. 310BE7 730 1 730 46. 219HB7 MAS 2 718 1435 47. 221A7 3AS 730 730 48. 301A7 SAS 850 1700 2 49. 321A8 MAS 1610 2 805 50. BP2 2AS 825 825 1 MAS 51. 801 853 1705

## /IRGINIA CATTLE COMPANY - RADIANT, VA

-800-309-2350

.OOM NUMBER 4505513#

9/25/2018 10:30 Am

RD	PEN NO	GRADE SEX/BREED	TTL HD	WGHT	TOTAL WEIGHT	PRICE	BUYER
53.	4LC8	LAS	l	800	800		
54.	4ALC8	2A\$	1	845	845		
55.	603	2AS	1	1065	1065		
56.	909 <b>W</b> V	GrJES は3	24	1065	25570		

,,,,,	PEN	GRADE DILLE	TTL	AVG	TOTAL		
)RD	NO.	SEX/BREED BUUS	HD	WGHT	WEIGHT	PRÍCE	BUYER
1.	309AB3	MAB	2	395			
2.	SP4AB2	2AB	1.7	280			
3.	403A3	3AB	1	395		1	
4.	305AB3	4AB	1	335			
5.	313	MAB	6	449			
6.	314	2AB	2	475			
7.	314R	MRB	1	410			
8.	219WT4	2AB	1	465			
9.	404A4	3AB	l	430			
10.	308A4	SAB, SSAB	4	458			
11.	315	MAB, LAB	5	546			
12.	316	2AB	3	532			
13.	403A5	3AB	1 1	520			
14.	307A5	SAB	4	551			
15.	305AB5	4AB	1	560			
16.	BP4	SSRB	] 1	525			
17.	325	2AB, MAB	5	656			
18.	325R	MRB	1	660			
19.	404A6	3AB	1	665			
20.	326	LAB, 2AB, MAB	5	744	***		
21.	309AB7	SSAB	1	705	705	1	

			TTL	AVG	TOTAL		
]	PEN	SEX/BREED HEIFERS	HD		WEIGHT	PRICE	BUYER
)RD	NO.		4	325	1300	TREGE	
1.	SP5	MAH, 2AH	2	395	790		
2.	322	MAH, LAH	3	387	1160	111111111111111111111111111111111111111	
3.	323	2AH	1	230	230		
4.	3AH2	SAH	1	295	<del>295</del>		
5.	SP4AH2	ЗАН	2	395	790		
6.	205A3	SAH	1	395	395		
7.	ЗАНЗ	SSAH (5 (12 5 3 3 3 1 4	9	440	3960		
<u>}¥⊀8 .</u>	601WV	GIAII (JA)	4	430	1720		
9.	202	MAH	3	428	1285		
10.	203	2AH	10	473	4725		-
11.	204	MAH, LAH	9	485	4365		
12.	216	2AH	1	490	490		-
13.	216BV	2AH	8	456	3650		
14.	224	3AH	<u> </u>	490	490		
15.	218Y	3CH	1	425	425		
16.	218TIG	3RH	1	470	470		
17.	3HB4	3AH	1	470	470		
18.	SP4SWJ	2AH	2	403	805		
19.	306AH4	4AH	11	549	6040		
20.	100	MAH, LAH	10	554	5540		
21.	101	2AH GrMXH 등음 AC 4스 33	7	566	3965	:	
<u>1/22.</u>	501WV		1	540			
23.	322BR5	MAH	$\frac{1}{1}$	600	600		
24.	322C5	MCH	5	558	2790		
25.	215BE	GrAH	1	520	520	-	
26.	323RT5	2AH	15	556			
27.	225	3AH	<del>                                     </del>	575	575		
28.	218LH5	SAH	5	540	2700		
29. 30.	205A5 205R5	SRH	1	565	565		
30.	3AH5	SSAH	1 1	565			
		18B (4 Gm. 132	19	677	12865		
¥32.	908WVV 107WV	Gran Ber 177's	8	704			
₹33.	102X	MAH	13	657			
34.		2AH	1 0	655			
	210 115WVN		4				
<u>★36.</u>		MRH	1 1				
	214R 30E6	MAH	1 1				
38.		3AH	6				
39.			1 1				
40.	SP4BL6		<del>                                     </del>		Annual Control of the		
42.		SRH	1 1				
43.	SP4PE6		1 1				
44.	209	LAH, MAH	4		A		
45.	211	2AH	3				
<del>√</del> 46.	603WV	2AH	2				
47.		MCH	$\frac{1}{1}$				
48.			$+\frac{1}{1}$				
	206AL7	LLAH	<del>  1</del>				
50.	214HEH		1				
51.		MAH, LAH	1 3				
<b>Z</b> 52.	116WVN		4			1	
53.	213CHN		1	825			
	213A9	LAH, 2AH	1 2				
	121757			, ,,,,,,,			***************************************